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Principles of Economics I - Classroom Experiment (6): Market Trading D — International Trade
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You will participate by forming 42 groups, divide into two markets, each with 10 buyers and 10 sellers, and 2

traders who can participate in both market. In each round, each group can buy or sell one unit. Each group
will receive a playing card (J=11, Q=12, K=13, A=1). If your card is red, you are a seller; if it is black, you
are a buyer; if it is a joker, you are a trader. Those with Hearts and Spades trade in Market 1; those with
Diamonds and Clubs trade in Market 2. Please store your card properly so no one can peek.
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Seller (Red): Your cost of production is the “number on your card multiplied by 10.” So, your profit is the

difference between the selling price and this cost. For example, if your card is “2 of hearts,” and the selling
price is $30, your profit is $30 - $(2x10) = $10. If the selling price is $100, your profit is $100 - $(2x10) =
$80. If you do not trade, you earn no profit (but incur no cost).
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Buyer (Black): Your value of the product is the “number on your card multiplied by 10.” So, your “profit”
(gain) is the difference between this value and the price paid. For example, if your card is “9 of Spades,” and
the price is $40, then your “profit” (gain) is $(9x10) - $40 = $50. If the price is $80, then your “profit” (gain)
is $(9x10) - $80 =$10. If you do not trade, you earn/gain nothing.
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Trader (Joker): Trader can trade in both markets to earn profits from the price difference. For example, if
you buy a unit at price $30 in Market 1 and sell it at price $40 in Market 2, your profit is $40 - $30 = $10.
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experimenter acts as the specialist taking orders from both sides (“buy $X” or “sell $Y”) and recording
them on the blackboard. If you want to accept the other side’s standing offer, simply shout “take” and
come to the front to report your trade and return your card.
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Profit Calculation: After each round, please record your value (or cost) and transaction price. Then, calculate
your profit or gain for this round. Total profit divided by 10 will be your grade for this experiment.
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You will participate by forming 42 groups, divide into two markets, each with 10 buyers and 10 sellers, and 2

traders who can participate in both market. In each round, each group can buy or sell one unit. Each group
will receive a playing card (J=11, Q=12, K=13, A=1). If your card is red, you are a seller; if it is black, you
are a buyer; if it is a joker, you are a trader. Those with Hearts and Spades trade in Market 1; those with
Diamonds and Clubs trade in Market 2. Please store your card properly so no one can peek.
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Seller (Red): Your cost of production is the “number on your card multiplied by 10.” So, your profit is the

difference between the selling price and this cost. For example, if your card is “2 of hearts,” and the selling
price is $30, your profit is $30 - $(2x10) = $10. If the selling price is $100, your profit is $100 - $(2x10) =
$80. If you do not trade, you earn no profit (but incur no cost).
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Buyer (Black): Your value of the product is the “number on your card multiplied by 10.” So, your “profit”
(gain) is the difference between this value and the price paid. For example, if your card is “9 of Spades,” and
the price is $40, then your “profit” (gain) is $(9x10) - $40 = $50. If the price is $80, then your “profit” (gain)
is $(9x10) - $80 =$10. If you do not trade, you earn/gain nothing.

P2 FrIF7 a3 35FE \% PRRPA T o O R o Aok AR - P H Y 30 ~F R
Ba R I %3340~ o PGSR R A 40-30=10 ~ -

Trader (Joker): Trader can trade in both markets to earn profits from the price difference. For example, if
you buy a unit at price $30 in Market 1 and sell it at price $40 in Market 2, your profit is $40 - $30 = $10.
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experimenter acts as the specialist taking orders from both sides (“buy $X” or “sell $Y”) and recording
them on the blackboard. If you want to accept the other side’s standing offer, simply shout “take” and
come to the front to report your trade and return your card.
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Profit Calculation: After each round, please record your value (or cost) and transaction price. Then, calculate
your profit or gain for this round. Total profit divided by 10 will be your grade for this experiment.
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Answer the following questions & % T 7| [ 4% :

1. How do traders across the two markets affect bidding and equilibrium prices? £34_% B % 335 %
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2. Isinternational trade “good”? Why or why not? ®*% ¥ % 7 v d& 4% |, w8 2 5 P A2



